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Stagel0. =% Tip(3)

EE I"L'l
- getComputerMove &% H9j

- HUFEII FHo|H fIXE &= I EE HsM S2|0]0f7} = o] H ¢
X|& 3ol ARE|e| §8 F= I ES AP

for i in range(1, 10):
if board[i] =="'-
copyBoard = board|:]
copyBoard[i] = PLAYER_STONE
if isWinner(copyBoard, PLAYER_STONE):
board[i] = COMPUTER_STONE
return
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Stagell. =% Tip(1)

7 HA EX| W0 2HotEE € o|=
HEstA =M E Hst7| fls random 2ES 0| 2§ LLCE.

ticTacToe &40 YU 1 X7} HAL|OZ HX| H|ZE FCE BMEEE
X ol =M K.

sHESHA| MAE|D 2 o' AH|0|X|FE| XtS*HH 0| X| HEIX| &LICE.




Stagell. =% Tip(2)

‘ B E 0|2(random)
- Ojo|M2 LYt 7|52 RE2IeA MlSol! ALt US Le{FAMIR.
1

EIES |2 HQl JACHH, turtle TE2 T 23U SH&2 9lol| MO|Lt =¥
= A 38 £ 2;!'.: Is2 71%l BEO|2h= AS E{FA| 1, 1 2|0 & ojo]
E|2ME fldll Al26H= numpy, pandas, pyplotlibL} AIE 2I5ll AI25}=
tensorflow, Al HZHS 9ISt pygame S U2 BEO| YUCt= UE Y{F
MbL.

radom 2 & 0|tH AH|0|X|0)|M= choice HIAEE E2¢8tL|LC].




Stagell. =% Tip(3)

C 3
- import BE 71X 27|(18)

import random
- 5 EX 3 olLHE HEo| MEst= 2 E2(319)

first = random.choice(['O’, 'X'])

- wholsFirst &4 =&(1233)

currentStone = wholsFirst()




Stagell. =% Tip(4)

- %1-.-.-517I F= 3¢ H4¥(1369~)

else:
getComputerMove(tttBoard, COMPUTER_STONE)
drawBoard(tttBoard)

if isWinner(tttBoard, COMPUTER_STONE):
print("Ot&l = . AFH 7t O| & L|CE"
return COMPUTER_STONE

currentStone = PLAYER_STONE
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Stagel2. ¢ Tip

AREVHES Hatg IS Yado|=

. g 2TASE 0ISHM TSt HE RFSIX OHIL.

- OIS 01, 250| &4 FSNE £ Foll £ MY 2ol $Y £ U= XIS Fot
£ So| Hus 7r°* 2 IELILL
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